2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ML2PP_7_03_W_20070206.html for a detailed report).
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e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value
Report version v1.11 26-05-2015
Time of report generation 28APR2016 11:15:03
Data source version ML2PP/7.03-W
Processing scope for products 06FEB2007 00:00:00 to 07FEB2007 00:00:00

Start time of first product within scope |06FEB2007 12:33:02

Stop time of last product within scope |06FEB2007 13:14:37

Total number of level 2 products 1

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name

Start time

Stop time

Prod err

Number of scans (tot/proc)

Quality summary warnings

o

MIP_NL__2PWDSI20070206_123302_000024952055_00210_25815_1000.N1

06FEB2007 12:33:02

06FEB2007 13:14:37

0

55/55

VMR_TERM_MACRO_MICRO[HCN/macro:1; Fl4/macro:4]

2.2 Processing performance indicators

2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 55 55 100.00
H20 55 55 100.00
03 55 55 100.00
HNO3 55 55 100.00
CH4 55 55 100.00
N20 55 55 100.00
NO2 55 55 100.00
F11 55 55 100.00
CLNO 55 55 100.00




N205 55 55 100.00
F12 55 55 100.00
COF2 55 55 100.00
CCL4 55 55 100.00
HCN 55 55 100.00
F14 55 55 100.00
F22 55 55 100.00

Murmber af successful retrievals vs, geclocation (x=day side |, triangle=night side).
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.

LOS labitude [dcgr\:n:s_nc- r|'.h]
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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MNZ0 wmr [pprov] MZ0 wmr standard devigtion [ppmy]
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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2.2.4.7 F11 overview This section shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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MZ05 wrr [ppmv]
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HCM v [ppry] HCM wimr standard deviation [pproy]
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F22 vmr [pprv]
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Tangent aititude [km] for pressure 1000 hPa
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03 wvmr [ppmy] for pressure 10000 KPa
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CH4 vmr [ppmyv] far pressure 100.0 hPo
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F11 vmr [pprry] for pressure 100.0 hPao
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Caily overage [see title]

Caily overage [see title]
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F22 vmr [pprrv] for pressure 100.0 hPa
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Tangant altitude [km] for pressure 10.0 hPa
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Daily averaga [ase title
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CH4 wmr [ppmy] for pressure 10.0 hPa
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MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa
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MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa
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F11 vmr [ppmy] far pressure 10.0 hPa
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Caily overage [see title]

MZDE vmr [pprmy] for pressure 10.0 hPa
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Caily overage [see title]

Dally average [see titla]
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HCH wrr [pprov] for pressure 10.0 hPa
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Caily avaraqa [eee title]

F22 vmr [ppmy] far pressure 10.0 hPa
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Tangent altitude [km] for pressure 1.0 hPa
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Daily averaga [ase titla]
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CH4 vmr [ppmy] for pressure 1.0 hPa
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MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa
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Timz [atart of day]



Caily everage [see title]

F11 vmr [pprrv] for pressure 100.0 hPd

20107
e
LT B TS frasemrresnn s eSS s
: - : - o :
. P | 20 ta —80 deg
P B0 to —B5 deg
_Z?\_ : ' —B5 to —20 deg
g e -. ---------------------------- T R Er------------------ T ELCTLTEEEEEEEEEEEEEEREE R _-.': (120 to 20 deg
; : : : ' ' 20 to 35 deq
—ES to 30 deq
E0 to 00 deg
T T femenanen e T oo
o : : : ; : :
Oz 30LCD (i 00,00 AN Q00050 Q000,00 Q00000 0 00,00
OB 11 S 5006 23711 /2006 o2,/ 5006 53,15,/ 2006 a7,/ 01 /2007 2% /01 f5007 O 702 /2007

Timz [atart of day]



Daily averaga [=se titls]

CLNO wmr [ppmy] for pressure 100.0 kPa

0.0008
BTG [ o ............................ o ............................
' : ' : : V| 80 to —80 deg
BT e P, S S, R, A A bttt L| B0 to —B5 deg
. : - Y ; —B5 to —20 deg
| [PE-20 ta 20 deg
g ; 20 to 85 deq
0BT |- eee e e, TR O R | B8 to 80 deg
' 5 : 0 to 90 deg
QIQDDE a;. ........................................................ .§. ........................................................ E ......................................................... ia;. ....................................................... 'i' .
0.0001 i : : - \k : .
(AN 000,00 Q00000 00 ;00,00 Q000 00 000,00 QC: 00,00
OB/ 11 S0 DI 2006 OB /12,2006 5313 2006 07,/ 01 F2007 22701 F3007 06 /0% /2007

Timz [atart of day]



Caily everage [see title]

MNZCE wrnr [pprey] for pressure 100.0 hPa

Iao=1o7t
25R10 e -‘ """""""""""""" 1 """"""""""""""" r“
=
N e R S bl N -
2010 ; ' ; v : V] p+—92 ta —E0 deg
. : : : E T D | B0 to —B5 deg
' : —B5 to —20 deg
1_5x1cl—+ ............................ Er ............................ E. ............................ 5...-.---.-..-.---.-..-.---.-.E. .......................... .i-.-..-.---.-..-.---.-..-.---a:- [E1—-20C to 20 dEg
: ' : ' : : 20 to &5 deq
—ES to 30 deq
' ' ' ' ' ' B0 to 90 deg
J b (el EEECILECEEEELITECEEEELILELE -"- -------------------- ‘ """"""""""""""""""" ‘ -------------------- r-
E0xio™ '- -------------------- " --------------------- I ECPPPELPRPPEEPRIED o Rk -------------------- -
' ' N * '
o

D500 (000,410 00,00 (006,50 (00, 00 00,15 A 00,0
OB 00 B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7 (6 FiE 2007

Timz [atart of day]



Caily everage [see title]

55107

T 1 s ST fromeme s RS S S CRTCROREEERRS. SEFLR TS

4.5x107 ---------------------------- frasemrresnn s ---------------------------- ---------------------------
T ] RS L e LR L LI LEC RS Fremrmppapmr by e -
; : ; : ‘,hl ; :

IEx107 " """"""""""""""" "
kW43 [ il SCEIEEEEOPRREEEEEEPERREees frammemmn s S ————— SRR SO
b L e s R oonene s R B ARt

b IuE S [+ SRR L EEREEEe ARG CRE L REEREE PESETCERRRTEP RS R L i

1.5x107

F12 vmr [pprrv] for pressure 100.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
OB 00

(000,410
B3 2004

00,00 (006,50 (00, 00
OB A2 2006 53 A2,/ 2006 07 /01 /2007

Timz [atart of day]

00,15
28 /01 Fa0ci7

A 00,0
(6 FiE 2007




Caily average [see title]

COFZ wmr [ppmv] for pressure 100.0 hPa

1,210 : E
1.0%10°
IEI..U:':-IG? ............................ .i.; ............................ i ............................ ; ............................ i. ............................ ;
; : ; : : i | f—+—90 ta -0 deg
5 D | pE—BO to —B5 deg
T ! ,
£.0x10 ; ; —B5 to —20 deg
| [PE-20 ta 20 deg
: : ; ; § ; 20 to 85 deg
4,0:’:1':'? ............................ E. ............................ i. ............................ E ............................. i .................. N .E ............................ i - FS to A0 I:IEH
: ; : ; : : &0 to 90 deg
2.0:19°
L] DR R T e e e (I 5. Lo s TSN ;L\_;'-L___r;@ .............................. |:i:|.
— 20107 : : : - : .
D000, 00 0: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
OB/ 11 S0 DI 2006 OB /12,2006 5313 2006 07,/ 01 F2007 22701 F3007 06 /0% /2007

Timz [atart of day]




CCL4 vinr [pprov] for pressure 100.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



HCM wrr [pprov] for pressure 10002 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



F14 vmr [pprrv] for pressure 100.0 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



F22 vmr [pprrv] for pressure 100.0 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



Temperature [K] for preasure 10.0 hPa

850 Ty
e — S — e ——
=1+ ] rorerrenss s i frosaesnanass TR T 1 [—a0 1o —80 deg
= : : = | : Ol besx—80 ta —66 deg
A, . , ; ! : ; —65 to —20 deg
R e eeceeerceeencens S AN R femreeeereeeeeeceneecennr o] =20 ta 20 deg
5 - ' - ' . ' 20 to 85 deg
z 5 —— 65 to 0 deg
= : &0 to 90 deg
B BAD freemee e S LETCTETTEPLLEEEEEL T L S PPPRE P EEOTE AR B RRCLCCRTTETLLTPRRLTRI FPOE) SRRPLLRRPRS _[“JT ------------------------------
S R s - —
1898 ; : . : , :
D0 00,0%) 000,00 000,00 000,80 (530003, 00) Q000,04 00 00,000
OB/ 11 FE0ns 2311 /3006 OB/ 2 /2006 537152006 0701 2007 2% /44 F3007 06 /0% /3007

Timz [atart of day]



Tangent altitude [kmn] for pressure 1000 hPa

) Tl

3-1 ............................ E ............................. E.E ............................ .E ............................ E ........................... [?.j

H——02 ta —E0 deg
e —BD to —B5 deg
+ —65 to —20 dag
' | EE-20 to 20 deg

H
=)
¥
i
¥

20 to 35 deq
—ES to 30 deq

[
w

Caily averaqa [eee title]

: 5 0 to 90 deg
f e e

P S S — e A T— b
27 - . - . - .
D500 (000,410 00,00 (006,50 (00, 00 00,15 A 00,0
OB 00 B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7 (6 FiE 2007

Timz [atart of day]



H2Z wrnr [pprev] for pressure 190.0 hPa

7.2

o S E F— R i S
R e R S frocssseeseeeeeeseeeseetl 470 ta —BO deg
s 4| [#%—80ta —B& deg
K3 ' —B5 to —20 deg
Y Y R S L R : E'E';;Dtntﬂ -E.E;.md deg
il eq
= S I;}{ —— 65 to 0 deg
= &0 to 90 deq
I.:I‘:' B | e e L e m e e e mEEm A Esam s mmmmms s EmmAm - el d e maamaaeeema e mmamssmsemmamssmsemmmmmame—n= 1

o — — e — T — R —

EEeE et 0

4.5 : : : ; :

D000, 00 0: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
0B/11 /2008 23711 /2008 OB /1272006 53 ,/12,/2006 07,701 /2007 23701 /2007 06,707 /2007

Timz [atart of day]




O3 winr [ppmy] for pressure 10.0 hPd

Caily averaqa [eee title]

i B o
I +—+—8C to —80 deg
4= —BC to —BS deg
—G3 to —20 deg
[E1—-2C to 20 deg
; : ; : : : 20 to 35 deq
............................ E.i.ii .EE _Eﬁ tﬂ Eul.l:l I:IEH
: g g E0 to 90 deq
......................................................... J.iﬁﬂ,
2 N
00.00 000,00 Q000,00 Q000,50 Q000,00 000,00 A 00,00
08,/ 11 2008 2311 f2008 OB 12 /2006 23/1%,/2006 07/ 01 2007 23 01 2007 06 /02 /2007

Timz [atart of day]



HMO3 wmr [pprry] for pressure 1000 KPa

00055
s ul=1+] EELELERRECEREE PR freraremr e formem e
R T L R borramns s frocsesnrennenianie s e "1 fF—+—oC ta —E0 deg

jj D | 80 ta -85 deg
i H —65 to 20 dsg
: i | BE—-20 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

Daily averaga [=ss title
=]
[
£

O — . S—— S S S——————

BLD030 foreereresessores s e T R PR PR  SROTECIEERES
0,0025 : : : ; . H
D500 (000,410 00,00 (006,50 (00, 00 00,15 A 00,0
OB 00 B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7 (6 FiE 2007

Timz [atart of day]



1.6

CH4 wnr [ppmy] for pressure 10.0 hPa

1.4

o

=

Daily averaga [=as title]

=
o

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

=
o

0.2

H N N R 2 B

D500
OB 00

(000,410 00,00 (006,50 (00, 00 00,15
B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7

Timz [atart of day]

A 00,0
(6 FiE 2007




MNZ2 wrnr [pprev] for pressure 190.0 hPa

0.25 ; i
i
D b= e e e e e e e e e e .i ......................................................... .
2 : . . (90 to —50 deg
DA S O S S .| Pex—B0 ta —BS deg
3 i 5 i 5 § 5 —G5 to —20 deg
a : | EE-20 ta 20 deg
e 20 to 35 deq
R e T e oo . | [ to 80 deg
= 010 : : : ' : : &0 to 90 deg
S : ! ,
R T ——— .;.; ........................................................ ; ......................................................... . ........... S m{ ..... .;. ........................................................ .
j‘,‘}_ _..-‘1_‘-.._ T
0.00 : ; : ; : :
D000, 00 0: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0010

ARE e ............................. ............................ TP TPRT N ............................

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

a.0086 ........................................................ E——— ......................................................... g : ........................................................

'E'.C":l-q- ............................ ; ............................ i ............................ ;. ............................ E, ............................ ;.i El:ltngl:l dEH

'E'.DDE ........................................................ é.a;. ........................................................ i ......................................................... E ........................................................ .§. ........................................................ E

O, 000

000000 000,00 Q000,00 Q000,50 Q000,00 000,00 A 00,00
08,/ 11 2008 2311 f2008 OB 12 /2006 23/1%,/2006 07/ 01 2007 23 01 2007 06 /02 /2007
Timz [atart of day]




Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,014

o2

N iR CER LR LI LR TR eI prpprppy : ............................ E. ............................ : ............................. EXQQ{}(: ............................ E

0.008

I:'-':":'E“; ............................ .i ............................ E ............................ i ............................ E. ........................... EEJ

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

0.004

O, 000

OO0 | -. ............................ : ............................ - ............................. :j/_ ...... J.._‘f‘_.l ............................ :

D500
OB 00

(000,410 00,00 (006,50 (00, 00 00,15
B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7

Timz [atart of day]

A 00,0
(6 FiE 2007




Caily everage [see title]

251070

F11 winr [ppmy] far pressure 10.0 hPa

anx108

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

155107

10107

B0 107

D500 (000,410 00,00 (006,50 (00, 00 00,15 A 00,0
OB 00 B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7 (6 FiE 2007

Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

0.0014 :
s - I e e R :
_\'\\_ 1‘""“5._
E 0.807G oo mmmmmmremm e """"""""""""""" """"""""""""""" frosrrrmrss s | fF+—ao ta —=0 deg
:; 5 ; v | [ —B0 to —B5 deg
L) ! ! : ! —BE ta —20 deg
E‘ IR Fmmmmmmmmmmmm e e e e e .i ......................................................... .i ............................ E. ............................ E. [E1—-20C to 20 dEg
il ; E ; 20 to 85 deg
E : ; i | —B5 to 30 deg
5 : : 0 B0 to 90 d
= ' : : ' : =3
& DLDO0E [-ommmmmmmmrmmmee e onemmemee e ERHEPEI S SRR -
(1,004 [-oreeeereranaressanancns e LA ISITOERE R SRR LR erasenne s R i frorererennn e
i E +.‘+_|,,.-|- ""'hq.-“"
Q.0002 : i : : :
O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB,/ 11 /006 23 /11 F2006 OB A2 /2008 23 /1% /2006 07 /01 2007 2% /o 2007 06 /0% 2007

Timz [atart of day]




Daily averaga [=se titls]

0.0020

00015

MNZCE vimr [pprmy] far pressure 19.0 hPa

+—+—8C to —80 deg

4= —BC to —BS deg
—G3 to —20 deg

[E1—-2C to 20 deg

02010

20 to 35 deq
—ES to 30 deq

&0 to 90 deq

T T S R iR T T

0,00 s : : : et ot it Y .

D0z 00LC0 000,00 D0:0000 000,00 Q000,00 Q000,00 000,00
DB 11 /3006 23,11 /2006 OB A2/ 2006 5312,/ 2006 07,/01 /2007 2201 /2007 06 /0% /2007

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
LTS [ : : :

. e e e N

A Jrrnnnnnn s frrrrnn s i [ T =T,y g
! : ! : ! P | pex—80 to —BS deg
—G3 to —20 deg
[F-E1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
&0 to 90 deg

15:-:1'3-_+‘ """""""""""""" " """"""""""""""" ‘ """""""""""""" """"""""""""""" "

RUE Q] EEREREREREER AR Fsnnen e IS SR et

B 10T [sresnenennn s froresrenensn Fercenenn baresnesnns s i e e

D500 (000,410 00,00 (006,50 (00, 00 00,15 A 00,0
OB 00 B3 2004 OB A2 2006 53 A2,/ 2006 07 /01 /2007 28 /01 Fa0ci7 (6 FiE 2007

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

3.5x107
g Lo B R RRRRA ---------------------------- -------------- ety - ---
: - : EEE] : o
3 e ’
—4 , ' \ ' +\_|..F;+ H '
S L T frorTern s O 1 f—+—o0 to —E0 deg
' : ' : ' D | pE—BO to —B5 deg
—G3 to —20 deg
R 1§ G [+ CEEEEEEE R R PR r ---------------------------- T Y T PR ;-----------------------------5— --------------------------- -i----------------------------a:- (120 to 20 deg
: ' : ' : T 20 to &5 deq
5 : | —B4 to 80 deg
: : : : : E0 to 90 daeg
LE A e R froremennnen s v A S S
L3 1 g s SR e T R PR PR IR e
B0 1078 ; : : - : .
Oz 30LCD (i 00,00 AN Q00050 Q000,00 Q00000 0 00,00
OB/ 11 S0 DI 2006 OB /12,2006 5313 2006 07,/ 01 F2007 22701 F3007 06 /0% /2007

Timz [atart of day]



Cally overage [see titla]

CCL4 wmr [pprov] for pressure 19.0 hPa

31078 5
B 10
Ealva H—+—00 to —E0 deg
D | pEx—BO to —B5 deg
' —G3 to —20 deg
410" || [FE-20 ta 20 deg
E 20 to 35 deq
i | 85 to 80 deq
; 50 to 90 deg
2%1G70 ;
0 |
@
—2x107" - : - : & :
DR (10 00,00 AR 000,00 00, ) Q0000 B0 00,10
DB/ 11 FE00E 23/11 /2006 OB /12,2006 5313/ 2006 07 /01 /2007 2% /01 007 06 /0% /2007

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o 0000 ;00,00
OB/ 11 /2006 23411 /2006 OB /12 /3008 53 /12 /2006 a7/ 01 /2007 2% /61 /2007 06 /0% /2007

Timz [atart of day]



Caily averaga [eea titla]

F22 vinr [ppmyv] faor pressure 10.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

162107 : . . E E
Yy =T
1.2-‘-“51':'4 ............................ i ............................ E ............................ é.,,;
.E.,I:I.‘:-ﬂ'ﬂl“ﬁ ........................................................ .:.; ........................................................ PPN .4 :
-'1-.|:|K'1E'_ﬁ .......................................................... - ......................................................... T S _|_
P S S S A . S
—4. 070 : : : : : '
D0-o0.C0 000,00 D00, 00 000,00 Q000,00 QI000L 00 000,00
OB/ 11 2006 D311 /2008 OB /12,2006 53 /12,2006 a7/01 /2007 2% £01 F2007 06 702 /2007

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

280

Caily averaga [=== title]

230

ZEQ oo

BED [-omnereeens s R R

| S ——— S S O S ———————

s T s S o AV

+—+—8C to —80 deg
; 4= —BC to —BS deg
cl —B5 to —20 deg

20 to 35 deq
—ES to 30 deq
&0 to 90 deq

e e A RS = = .= NN SRR N B 52 - R -

D500
OB 00

(000,410
B3 2004

00,00 (006,50 (00, 00
OB A2 2006 53 A2,/ 2006 07 /01 /2007

Timz [atart of day]

00,15
28 /01 Fa0ci7

A 00,0
(6 FiE 2007



Tangent altitude [km] for pressure 1.0 hPa

a2

=
E —+—00 ta —E0 deg
PR [ —B0 to —B5 deg
o —B5 to —20 deg
o [F-E1—20C ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= & &0 to 90 deq
&

A4

42 - : - : - .

00z 00,00 00; 00,00 Q0000 00,0000 Q000,00 000,00 00 00,00
OB,/ 11 /006 23 /11 F2006 OB A2 /2008 23 /1% /2006 07 /01 2007 2% /o 2007 06 /0% 2007

Timz [atart of day]




HZC winr [pprmv] for pressure 1.0 hP4d

H.o

Y E——— A SN S — S S S
] e % """ ; H—+—00 to —E80 deg
- : - —B0 to —65 deg
K3 —B5 to —20 deg
® b R S . [F-E1-20 to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
I.:I‘:' BB | e e L e m e e e mEEm A Esam s mmmmms s EmmAm - e 1

S — — . .

oo : : : ; : :

D000, 00 0: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
OB/ 11 FE0ns 2311 /3006 OB/ 2 /2006 537152006 0701 2007 2% /44 F3007 06 /0% /3007

Timz [atart of day]



Q3 wmr [ppmy] for pressure 1.0 hPd

4.0 :

Y E— R S —— S e
= (90 to —50 deg
. i % —B0 ta —B5 deg
K3 ] —B5 to —20 deg
Ty P A RS SRS SN § S S e eecemeerceeeecens | [FE-20 ta 20 deg
o : ' : ' : : 20 to &5 deq
= —— 65 to 0 deg
= &0 to 90 deq
a

S04 I S S— S AU S

2.0 i 5 i i .

D0z 00LC0 000,00 D0:0000 000,00 Q000,00 Q000,00 000,00
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